EIhREERESY VS

M series

55, VR, B
OB E TR CRBTEBIYI (Y NEE

@id/\E, BE(hZEBRLE LI
OOy UN)LJ. UU—J)NILTHE. ESICHESR YT T
* CEX LG

W FEE
&R R_Q AEXRAE ATERRAR
M-HA type [T 7 BiEZRRAMA-Y M-HB type EH= Pz IN=E
(EZAR— M) il GEKAR— ML)
= .
e
(L]
'l ,E‘B o N
T u_l‘_ﬁs
o _:f_—_[:'!_"??ﬂ-e
- _;j'-:g =3
- | 2-¢U % _dp, e |
. " . | 1 =S EDr 1 e 1
BRIV NE %“5 g ——;j—{ T_ ¢+ EFEILNE C-DIF e v 6T
rif INK B- !
M6X1 112 *'g.@- M6X1 12 Li#12 1 P |
=D BV 1k &
i Q0 AEZRRE
M ':_f tyf;w T BiERRYRMA-Y M1935HC
5 o) f
7 g . [ T
i * [L:]
@ | ! ,-H B eql
A 2Dy o - [Essas !
_ 3Reild -k " - e -C'B*.B
_2—_¢ U N\t o _/\<{j / =2 -i - 5
LLETIC IS S B T =
, ! M N\ 6-T
M6X1 12 UR12 L pia £ P |
BV 1k |
M-HA M-HB M-HC M1935HC
AiE A A Al

MIT20HA2IN| 170 | 20 | 145|128 ] 4230 [ 22 | M20 |30 | 15 [135|125]14 |60 | 40 | 72 [ 52 | 26 1502 [ M8 | 14| —
MIT20HB2IN| 110 | 20 [ 145 | 128 | 42| 30 |22 | M20 | 30 | 15 | 17512514 |60 | 40 | 72 | 52 | 26 [1592 | M 8 | 14 | 104
MIT20HC2IN| 170 | 20 [ 145|128 | 42| 30 |22 | M0 |30 | 15 [135]125 |14 |60 |40 | 72 | 52 | 26 | 1592 | M8 | 14 | —
MI221HA2IN| 120 | 21 | 168 | 145 | 44 | 32 | 22 M20 | 30 | 15 | 138|128 | 14 60 | 39 | 75| B4 | 27 |1822 | M10 | 17 -
MI221HB2IN| 120 | 21 | 168|145 | 44| 32 |22 | M20 |30 | 15 | 178|128 14 |60 | 39 | 75 | 54 | 27 |1822 | M10 | 17 | 104
M1221HC2IN| 120 | 21 | 168 | 145 | 44 | 32 | 22 M20 | 30 | 15 | 138|128 | 14 60 | 39 | 75| B4 | 27 | 1822 | M10 | 17 -
M1330HA2IN| 130 | 30 | 168 | 150 | 51 | 36 | 26 M24 | 35 | 15 | 144 134 |18 60 | 30 | 79 | 49 | 37 |1822 | M10 | 17 -
MI330HB2IN| 130 | 30 | 168 | 150 | 51 | 36 | 26 | M4 | 35 | 15 | 184|134 |18 | 60 | 30 | 79 | 49 | 37 1822 [ M10 | 17 | 104
MI330HC2IN| 130 | 30 | 168|150 | 51| 36 | 26 | M4 | 35 | 15 [ 144 [134[18 |60 | 30 | 79 | 49 | 37 |1822 | m10 | 17 | -
M1935HC 190 | 35 |200 | 220 | 245 | B5 | 38 M36 | 60 | 19 | 164|154 |205| 73 | 38 |133 | 98 5 | 252 M12 | 20 —
KEZNVHES | S AMEAM]120HE 3.5MPa(35.7kef/cm?) . M1221HE4.0MPa(40.8kef/cm?), M1330HE4.0MPa(40.8kgf/cm?)
W ER  «RUYBIEEEN3.0MPa(30.6kef/cm?) JEEE0TC DR 33TEAA v F : Model BES M12MI-PSC20B-BV02 () UL—J6)8)DC24V 200mA PNP
EX o REE EXRNVH#EH

?,.ﬂj E"cllfau kmg“f) kﬁ(lgjf) Eil;lpgg/cﬁ!)fj] I\aljrﬁr{! JFes:;:EEmEE Iﬁ‘likfg.m):J ~

M1120HA2IN 20 876 84 | 280 (2855)|27.0 (2753)] 35 (35.7) 12 6000 82 0016
M1120HB2IN 20 87.6 84 | 280 (2855)[27.0 (2753)] 35 (35.7) 12 6000 85 0016
M1120HC21N 20 876 84 | 280 (2855)|27.0 (2753)] 35 (35.7) 12 6000 82 0016
M1221HA2IN 21 1067 | 102 | 390 (3977)[380 (3875)| 40 (408) 12 6000 102 0028
M1221HB2IN 21 1057 | 102 | 390 (3977)[380 (3875)| 4.0 (408) 12 6000 105 0.028
M1221HC2IN 21 1057 | 102 | 890 (3977)|380 (3875)| 40 (408) 12 6000 102 0028
M1330HA21IN 30 12563 | 119 | 470 (4793)[450 (4589)| 4.0 (408) 12 6000 103 0.029
M1330HB2IN 30 12563 | 119 | 470 (4793)|450 (4589)| 4.0 (408) 12 6000 106 0.029
M1330HC21N 30 12563 | 119 | 470 (4793)[450 (45689)| 40 (408) 12 6000 103 0.029
M1935HC 35 274 252 |103 (10503)|94.6 (9646)| 4.0 (408) 12 6000 23 0.15

@



Compact Style Hydraulic Cylinder with Closed Centre

M series

Short, Compact, and Light
The compact design maximises Lathe performance

@Compact and lightweight

@Built-in check valve and pressure relief valve, and sensor switches
*CE correspondence

Ml Dimensional Drawings

A : Piston Diameter
B : Piston Stroke

: Piston Diameter
: Piston Stroke M-HB type

M-HA type
(Air supply port) (Coolant supply)
= .
T
. HO
L% o
l-'.rIf""?‘u_ u_l‘_ﬁ =
-1l iseHfo
RC1/4 Ay 5-Ret/4 =y 2 -
2-¢u" N L8
A 2-6U)% s 3
bg;’[moun N9 St For mounting C-Dr# KRBT
Dri i bolt | M 5
M6X1 depth 12 M6X1 depth 12 1 )
for anti rotation for anti rotation
M-HC type R Q  A:Piston Diameter M1935HC
yp [T B:Piston Stroke R Q
(No port) Q
= 1 = . P
7 .| A T
§ ot - w
& Gy { | '_H - Jo L H .
| —r < to y
A @ \ B; | _'i _':?‘uéu_lﬂg 777”752;‘5_3%
| e B ¢ Lt S n =)
S 3R e » : tee i
gl @ ] © J=+5 [ J
&QS U /\if M TR
For mounting 7" Dr j.~ il == il =
bolt e _.' ¥ ,-.—._M.A N\ E_T - f t t t % T
M6X1 depth 12 T el For mounting for anti rotation N 6

P | bolt

for anti rotation

M-HC M1935HC
Forward Forward

Bl Dimensions

Dimensions

Model

M1120HA2IN| 110 | 20 | 145|128 | 42| 30 | 22 | M20 | 30 | 15 | 135|125 |14 60 | 40 | 72 | B2 | 26 |1892 | M8 | 14| —
MI120HB2IN[ 110 | 20 | 145|128 | 42| 30 | 22 | M20 | 30 | 15 | 175|125 |14 60 | 40 | 72 | 52 | 26 | 1892 | M8 |14 | 104
MI120HC2IN| 110 | 20 | 145|128 | 42| 30 | 22 | M20 | 30 | 15 | 135|125 |14 60 | 40 | 72 | 52 | 26 | 1892 | M8 | 14| —
MI221HA2IN| 120 | 21 | 168|145 | 44| 32 | 22 | M20 | 30 | 16 |[138|128 |14 |60 | 39 | 76 | B4 | 27 |1822 | MIO | 17 | —
MI221HB2IN| 120 | 21 | 168 | 145 | 44| 32 | 22 | M20 | 30 | 15 178128 |14 60 | 39 | 75 | 54 | 27 |1822 | M10 | 17 | 104
MI221HC2IN| 120 | 21 | 168|145 | 44| 32 | 22 | M20 | 30 | 15 | 138|128 |14 |60 | 39 | 75 | B4 | 27 | 1822 | MI0 | 17 | —
M1330HA2IN| 130 | 30 | 168|150 | 51| 36 | 26 | M24 | 35 | 15 | 1441134 |18 |60 | 30 | 79 | 49 | 37 |1822 | M10 | 17 | -
M1330HB2IN| 130 | 30 | 168 | 150 | 51| 36 | 26 | M24 | 35 | 15 | 184|134 |18 60 | 30 | 79 | 49 | 37 | 1822 | M10 |17 | 104
M1330HC2IN| 130 | 30 | 168 | 150 | 51| 36 | 26 | M24 | 35 | 15 | 144 1134 |18 60 | 30 | 79| 49 | 37 | 1822 | MI10 | 17 | —
M1935HC 190 | 35 | 200 |220 | 245 | 65 | 38 | M36 | 60 | 19 | 164|154 |205| 73 | 38 |133 | 98 5 | 252 M2 |20 | —

s . sDraw bar : Max. Operation Pressure M1 120H§3.5MP8(35.7kgf/0m2), MW221H§4‘OMP3(4O‘8kgf/cm2)‘ M1330H§4‘OMPa(4O‘Bkgf/cm2)
. Specmcatlons %Leakage : Pressure 3.0MPa(30.6kgf/cm?)and oil temperature 50T. #Proximity switch : Model BES M12MI-PSC20B-BV02(manufactured by Balluff) DC24V 200mA PNP

Specifications i Piston Area Draw bar i
SP{?!EEE Push Side Pull Side Push Side Pull Side Maé.rggggsglon Leﬂa/';-.ainge Maxﬁﬁl‘need et \li\lseight M%T;E;‘Jf

Model mm cma cma KN(kef) KN(kef) MPa(kgf/cm?) - kg-m?
M1120HA2IN 20 876 84 280 (2855)[27.0 (2753) 35 (357) 12 6000 8.2 0016
|Ml120HB2lN 20 876 84 | 280 (2855)[27.0 (2753)] 35 (35.7) 1.2 6000 85 0016
IMHEOHCE]N 20 876 84 280 (2855)[27.0 (27593) 35 (357) 1.2 6000 8.2 0016
|M1221HA21N 2l 105.7 102 | 390 (3977)|380 (3875)| 4.0 (408) 12 6000 102 0.028
|M1221HBE]N 21 105.7 102 | 390 (3977)380 (3875)] 40 (408) 1.2 6000 105 0.028
|M1221H621N 21 105.7 102 | 390 (3977)|380 (3875)| 4.0 (408) 12 6000 102 0.028
|M1330HA21N 30 125.3 119 470 (4793)|45.0 (4589) 40 (408) 12 6000 10.3 0029
|Ml330HB2lN 30 1253 119 | 470 (4793)|450 (4589)| 40 (408) 1.2 6000 106 0.029
IM1330HCE]N 30 125.3 119 470 (4793)|450 (4589) 40 (408) 12 6000 10.3 0029
|M1935HC 35 274 252 103 (10503)|94.6 (9646)] 4.0 (408) 1.2 6000 23 0.15






